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Straight lines. Form A

v b

1. What s the slopeinterceptformo%x—2y—4=0?
(A)y = 6x — 2 g=r s

(B)y = 3x + 2 bx-29-4=0
@y—Sx— —2yq=Y = — 6% _;ix

D)y = —3x +2 B AR >

j:}X*—Z—

(E)y——6x——4

2. Which straight line is parallelto y @x + 77
> slopes ave QC\\M\\

(A)y =—x+ 7
= 7%
@y @x
y —
(E) Y = :3—-x +7
3. Which straight line is perpendicularto 2x —y = 57
Slopt neaanVve (€C\pProce!
(A)y =-x+5 y myme ==
(B)y = —2x 2x-37= > )
4 4= -1x%5
(D)y=_—25x é\O\Pﬁ’Z’ k_ ——_\_
B)y=—x+5 L ye (e crpf0c® 2.

r\-QSm
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4. For all pairs of real numbers S and T where S=4T -7,

T =7 e
gt s=47-"1

; 5¥1= 171 +
B)Z+7 Bl =T =4
(C)4S + 7 4

S-7
(D)=
()~

4

5. What is the x-coordinate of the pointin the standard
Wonr X At

@y) coordinate plane at which the two linesy = —2x + 7
and y = 3x — 3 intersect?

(A) 10 eafind s e
(B)5 ~2X¢=BX-D
(C)3 -5X +1= -2 A 3x
@ —5x=-10 =
. e 0 =2
(E)1 I \ > gux\o‘zH*)W\'\{ X N ay DIL‘\JJ\

T_-F OWn want e Jd coord e _ ‘
365\%;*‘1&\5. Y=-2D+7T :—‘5 o the pomt s (1/3>

6. For what value of n would the following system of
equations have an infinite number of solutions? -, Equetitns AT

3a+b=12 - @ 1Q\~en¥.ml
12a+4b=3n ~& +
(A) 4 Eoatron ﬁ:,'L wWas mV\\hp\\€J S Y
)16 ’ " :L& =
(C) 16 WL% = 3 N N j \@

noten The 48 5 12XY
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7. Inthe (x,y) coordinate plane, what is the y-intercept of

the line —9x — 3y = 15? Wappens ot X=0
o %03 \ 5
- 0) — —
BB J
(C)-3 ~33:—\5
2
(E)-15

8. In the (x, y) coordinate plane, what is the x-intercept of

the line 5x — 7y = 157 Rappens al J=0
- 0
—u#0)=1'5
83 S5 X >
(OFS S x =15
(D) 15 x=12 = 3
(E) 7 ]

9. In the standard (x, y) coordinate plane, what is the
equation of the line that passes through the origin and the

point (3,4)? - (c.0)
) 1 ET L
Ay =5x+2 (0.:0) v
1 3 R T & Li’__Q,:—_i
=y —= \ope. ™M= —
By =7x—7 £10p —ow, ~ 30 2 \
ey = il Hoe 2 poinE — Slope- o

-8 = Sl =7 Je %
___>
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(®y=§x
(D)y=%x+%
(ﬂy=%x

10. In the standard (x, y) coordinate plane, what is the
equation of the line that passes through the origin and is

parallel to the liney — 5x + 15 = 0 (0,0)
7 slopes are tqua\ —7 MEMT
- T - -
ECBJ)y SSJ:- 15 ?af\i . S\ope Interept form (Y= »er\»)
y =ox

DIy = 3% ¥15 =5X

D)y ; g; ey

(E)y =—3-x 3

(o) S st ™y $0 M1=D — -
%‘“\_”b\o"(’ Y- :w\Lx—x\> == 3_0;50—9}:7‘3—5@

11. In the standard (x, y) coordinate plane, what is the
equation of the line that passes through (3,4) and is parallel

totheliney = 2x + 2? Z\0pe5 are equa)
(A)y=%x+2 %r \3”’\%;“"7’ M= 2 5D Wy =2
Cly=2x+4 e
D)y =2x+ 10 ?D‘\WJV’ 5\3{)@’ ’ga

LT
(E)y =3x+2 (x‘:)\ -

s — ™"\ X— 2\

‘ijﬁy,zLX‘ﬁ
3/- ?/K—QAVL\
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12. What is the slope of any line parallel to the line 2x —

3y =77 slopes are. eava) {@r Patallel \\nes
- . —LN = Aandard »\op=e—
AlS write  2x=2Y=T sandars Ceom
(B)-3 ~gj:_z><_\_7 M= MY
@ Y= é——x - _’37_ = -3
o)z v N L
(E)3 Slope. Any Wne i Slope of = %

Pa(oﬂ&ﬂ\

13. If a system of 2 linear equations in variables has NO
solution, and 1 of the equations is 3y — 2x — 9 = 0, which of

bbnt\hkrscu
the following could be the equation of the other line?

(By=3+7)  No sobsion = Yort T,
(B)y =2x + 9 Dort infersect = Ogm‘a \le
(C)y———x+2 S X=T=0

= 2
(By—;m+2 I=3XF2 _
L5 clope=35

% Dn\j eclw/ﬂvsv\ wor YA slope- z

14. In the standard (x, y) coordmate plane, what is the

distance between the line x = —2 and the y-axis?
A) -2 verhical \ine

[ at x=-—2_
(B)v2 Viswally on digtance =2

@ of vst hhetmnie £o Fmw\i
CO:O) ank [=Lp0) .
o Z \Ero~©9

Q\:ﬁ:z,

\\>’,‘mP ; D\sﬁv‘te-‘/) PO‘DH\WV“"
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(E) -4

15. In the standard (x, y) coordinate plane, what is the
distance between the line y = 8 and the x-axis?

Rofi2ontal \ine
@ at 3:8
(B) /8 V‘\ﬁm\\3 Jishance =8 o imie
(C)4 o vse digtance
(D) -8 (o0) + (918
(E) -4 SN

= =8
16. If the point with coordinates (—2, b)lies on the graph of
y = —4x + 5. What is the value of b?

=1
(-2, = x=-2 ans 3
(B)8 X
(C)3 \32‘%”’5
D)1 b="H(D S5
(E) -3 b= 8+Yb —

17. The graph of the line with equation —2x — 3y = —15
_El_p__e_s_bl_(_)_'l_’_have points in what quadrant(s) of the standard

(x,y) coordinate plane below? =—\5

Need O . betdn \INC —zxm,?[a,fm
ol line 10 9 10pE _nercept

2y =15
e _53% = 2x-\5

= -2 A
3><J|—5

Vo t
5\1/096, g~ e
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v 1 T+ passes vhroun
¥ B i
M L IX aV\A IV - o 1
- dofs not (PA%° heowh
II w15 I
‘\
\\\ ;X
III v . \
. —~X+S
(A) QuadrantI only
(B) QuadrantII only
((C) Quadrant Il only )

(D) QuadrantIV only
(E) Quadrantll and IV only

18. Which of the following is ag equatlon of the line that
passes through the point (— —4 ,5) and ( 8 15) in the

standard (x, y) coordinate plane? do3) _ -15-5 _ -20_
s\ope A Xy — X, - -8 +Y —1
m pot—slope formte
(B) 5x — 4y = 15 Y-y, _m (X=%)
C)x+y=5 _s =5(X+Y)
5 3=
(Digx=y+35 — 5Xt20 +5

M= 5xt25 of OX) =725
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(B) (=5,-5) ofr Qu%%'&ﬂwéﬁ substibe
(C) (_5;0) N a\we O{— K \q n % 3
(D) (0, —-5) ¥=-5 = Y=-5-5= —1Q
(E) (0,0)
(' gy "O>
22. Which one of the following lines has the smallest slope?
S

Ay=x+6 m=]| -
By =2x+10 “=% P
= ok
Cy=3x-1 ™%
(

D)5y =15x+4 "=12=7

M=
' T

23. Giventhaty — 5 = %x + 1 is the equation of a line, at

what point does the line cross the x-axis?

=0
(A)-15 |
NCEERS i
C)1 = s
&b 0 -5 72X
)6 X -6
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24. The graph below shows how the variable y varies with x
in the standard (x, y)coordinate plane. What statement is
true about how y varies with x?

Y a
-« _ ‘(’6,1\0)‘ . ____.mnax \/a\\«ﬁ
0 (10,0) x

(A) Starts at y = 0, decreases, remains steady, increases,

decreases clope 5lope 14 zero
Ee}(rts ata gnll?fi_mum point, decreases, remains steady,

increases, decreases

(C) Starts at a minimum point, increases, decreases,

remains steady, increases.

(D) Starts at y = 0, decreases, reaches its lowest value,

increases, decreases



www.kawarizmi.org

(E) Starts at a maximum point, decreases, reaches its lowest
value, increases, decreases

Answers

1.C 11.B 21.A
2.C 12.C 22.E
3.C 13.A 23.B
4.E 14.C 24.B

5.D 15.A
6.C 16.A
7.B 17.C
8.B 18.A
9.C 19.E

10. A 20.A



